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B) 

1) F is defined on ℝ. ½ 

2) F (x) = 3(f(x))
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3) 

F (x) and f (x) have the same sign since (f(x))
2
 is positive. 

 

 

 

 

 

 

 

 

 

x 
-∞           

2

1
                 0                    1              +∞ 

(x)F'             +      0        +       0            ̶                 +  

 

 

F(x) 

                                       1                                  +∞ 

 

−∞             0                                      0       

1½ 



C) 

1) 


)(lim;)(lim xgxg
xx

 ½ 

2) 4f(x)412x8x(x)g' 23   ½ 

3) 

 

x 
-∞          

2

1
                  1              +∞ 

(x)g'             +      0         ̶        0            ̶   

g(x) 
−∞           

8

11
                -2                −∞       

1 

4) 

● For [
2

1
,]x


 , g is continuous, strictly increasing, and g(x) changes signs 

from   to 
8

11
; then the equation g(x) = 0 has a first root root. 

●For [1,
2

1
]x 


 , g is continuous…… 

g(–0.9) ×g(–0.8) < 0, then –0.9 < α < –0.8 

½ 

 

 

 

½ 

 

 

 

½ 

5) 
1)x24x(24x24x(x)g 2''   

g’’(x) vanishes at x=0 and x=1 by changing its signs ,so g admits two points of inflection 

(0,0) and (1,-2) 
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7.a) Dg = ℝ centered at zero and h(-x)=h(x) ½ 

7.b) 

If x ≥ 0: (H) ≡ (C)                                                                                                                          

If x < 0: (H) is the symmetric of the first drawn part with respect to the ordinate axis. 
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